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g GOPMYIJIbI

(3x5 ~20x° —54) - (3x5) — (20x3) -54' =
=3(x5) —20(x3) —0=3-5x"-20-3x" =
=15x" - 60x°

2)

(x5 —5x3 —20x) — (xS) —(5x3) —(ZOx)( =
=5x* —5(x3) —20(x) =5x*-5-3x2 -20-1=
=5x* —15x% =20




Hangute npon3BoaHYyO PYHKLMN:

GOPMYIJIbI

—.3x*=-9-1=
R

3 / 3 /
(—ixz +3x+1J =[—§x2] +(GBx)Y +1/ =

3Y 3
|
=—2[x2J +3(x)Y +0=—2.2 2" 41 3=

3 3 2
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=—x2+3=—/x+3




Hangute npon3BoaHYyO PYHKLMN:

5)

[Mpeobpasyem yHKLMIO:

3
2 A
y=—§xVx+3x+1=—§x2+3x+1

3
1+ =4
xJx=xl-x2=x 2=x2
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GOPMYIJIbI




6)
®OPMYTbI

[Mpeobpasyem yHKLMIO:

(x2 —4)C—|—4X)c—4)+5:x3 —4x” +4x -
—4x" +16x-16+5=x"—8x* +20x 11

(x3 —8x” +20x—11) =(x3) —(sz) +(20x) -11' =

=3x2 —8(x2) +20(x) +0=3x*-8-2x+20-1=
=3x% —16x+20
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GOPMYIJIbI
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HavuJ,MTe npovlssop,Hyro (byHKLI,I/II/I

9) . x+2=x:+9

X X OOPMVYIJIbI

(x2+9jl=(x2+9)-x—(x2+9)-x/ i

X x2

_2x X — (x +9)1_2x2—x2—9_x2—9
x? x? x?

2
X

T =_(x2+1)-x—(x2+1)-x/ i

_2x2—x2—1__x2—1_1—x




